
Theme: 8. PASSING TROUHG A ROAD JUNCTION, A ROAD INTERSECTION, A TUNNEL, A 
NARROWED SECTION OF THE ROAD, RAILWAY LEVEL CROSSINGS 
 

poin
ts 

К № Question, answers Figure 

3  8/1.0 When approaching a road junction, the driver must:  
timely assess how the rules for passing through the road 
junction are determined 
timely take the road lane, which is intended for his direction of 
driving  
be ready to reduce speed  
increase the speed to go faster through the road junction 

 

3  8/1.1 When approaching a road junction the driver must:  
timely take a lane, which is intended for his direction of driving 
drive on with readiness to stop 
give a light or sound signal, when he/she has right of way 
be ready to give way to pedestrians crossing the driveway  

 

3  8/2.2 Is the driver of the road vehicle allowed to enter a road 
junction, if circumstances force him to stop at the road 
junction and prevent him from the passing through it?  
no  
yes, when the traffic lights allow this 
yes, but only when the road is with  priority 

 

3  8/2.3 Are you allowed to enter the road junction if before crossing 
it you will need to stop in the road junction?  
no, if this will hinder passing through it  
no, if the exit of the road junction is occupied and I will remain 
with the vehicle within the road junction  
yes, when on a priority road  
yes, always 

 

3  8/2.4 In which case the driver should not enter the road junction?  
if the situation will force him to stop at the road junction, which 
will prevent lateral transversal movement  
when road vehicle with special regime of movement is 
approaching from the transversal road  
when passing is controlled by traffic lights with yellow flashing 
light 

 

3  8/3.0 In which of the following cases this signal of the traffic 
lights prohibits the entry into the road junction?  
when you are forced to stay in the road junction due to traffic jam 
when there is a stop line on the driveway 
when road signs concerning right of way are placed at the road 
junction  
 

 
 

3  8/3.1 At this signal of the traffic lights, the entry into the road 
junction is:  
allowed, unless when the driver remains in the road junction due 
to traffic jam 
allowed without restrictions  
prohibited 
 

 



3  8/4.0 Will the driver commit a violation, if in this situation he 
makes a U-turn?  
yes  
no 
 
 
 

 
 

3  8/4.1 In this situation, is the red passenger car allowed to 
continue moving straight?  
no 
yes 
 
 
 

 

3  8/5.0 In this situation, are you allowed to turn right?  
no 
yes 

 

 

3  8/5.1 In this situation, is the passenger car’s driver allowed to 
turn right?  
no 
yes 
 
 
 

 

 

3  8/7. In this situation are you allowed to turn right?  
no 
yes 
 

 

3  8/8. The order of passing through this road junction for this 
passenger car and motorcycle is determined:  
by the "priority to the right"  
depending on their direction of movement  
depending on the vehicles category 

 

3  8/9. The order in which these vehicles will pass through the 
road junction is determined:  
by the road signs related to the right of way 
by the "priority to the right” rule 
depending on the direction of movement of the vehicles 
 
 

 
 

3  8/10. In this situation, in determining the order of passing 
through the road junction, the following rules apply:  
the road vehicles on the priority road must pass before the road 
vehicles of the other road  
the road vehicles turning left from the priority road, should give 
way to the oncoming road vehicles  
the "priority to the right” rule shall be applied among the road 
vehicles on the priority road  

 
 
 
 
 
 
 



3  8/11.0 In this situation, in determining the order of passing 
through the road junction, the following rules apply:  
the road vehicles on the priority road must pass before the road 
vehicles from the other road  
the "priority to the right” rule shall be applied among the road 
vehicles on the priority road 
the road vehicles turning left from the priority road should give 
way to the oncoming road vehicles. 

 
 
 
 
 
 
 
 
  

3  8/11.1 In this situation, in determining the order of passing 
through the road junction, the following rules apply:  
the road vehicles on the priority road must pass before the road 
vehicles from the other road  
the "priority to the right” rule shall be applied among the road 
vehicles on the priority road 
the road vehicles turning left from the priority road should give 
way to the oncoming road vehicles. 

 

3  8/12.2 The order of passing through the road junction for these 
vehicles is determined:  
by the "priority to the right” rule 
depending on the vehicles direction of movement  

 
 

3  8/12.3 The order of passing through the road junction for these 
vehicles is determined:  
by the "priority to the right” rule 
depending on the direction of movement of the vehicles 

 
 

3  8/13. In this situation, in determining the order of passing 
through the road junction, the following rules are applied:  
the road vehicles, which have allowing signal from the traffic 
lights, pass through the road junction  
the road vehicles turning left, which have allowing signal, should 
give way to the oncoming road vehicles  
the road vehicles which have allowing signal, apply among them 
the "priority to the right" rule 

 
 

3  8/14. The order of passing through the road junction for these 
vehicles is determined:  
by the signals from the traffic-controller  
by the "priority to the right" rule 
depending on the direction of movement of the vehicles 

 
 
 
 
 

 

3  8/15.0 In case of discrepancy between the signals of the traffic-
controller, the traffic lights signals and the road signs, 
related to the right of way, you must consider:  
the signals of the traffic-controller  
the requirements of the road signs  
the traffic lights signals 
 

 
 

3  8/15.1 In this situation, when passing through the road junction, 
you must consider:  
the signals of the traffic controller  
the traffic lights signals  
the requirements of road signs related to the right of way 
 

 



3  8/16. In this situation, the order of passing through the road 
junction for these vehicles is determined:  
by the signals of the traffic-controller  
by the road signs related to the right of way  
depending on the direction of movement of the vehicles 
by the " right of way of the right-hand vehicle" rule 

 

3  8/17. In this situation, the order of passing through the road 
junction for these vehicles is determined:  
by the signals of the traffic-controller  
by the traffic lights  
by the "priority to the right" rule 
depending on the direction of movement of the vehicles 
 

 

 

3  8/18. In this situation, the order of passing through the road 
junction for these vehicles is determined:  
by the signals of the traffic-controller  
by the traffic lights  
by the "priority to the right" rule 
depending on the direction of movement of the vehicles 
 

 

3  8/19.0 In this situation, is it allowed to pass through the road 
junction?  
no  
yes, but after letting the blue passenger car pass 

 

3  8/19.1 In this situation it is allowed to pass through the road 
junction?  
yes  
no 

 

3  8/20. In case of discrepancy between the traffic lights signals and 
road signs related to the right of way, you must consider:  
the lights signals  
the requirements of road signs 
 
 

 

3  8/21. In this situation, in determining the order for passing 
through the road junction, the following rules apply:  
the road vehicles which have allowing signal from the traffic-
lights shall pass through the road junction  
the road vehicle which turns left lets the oncoming road vehicle 
pass first 
the road vehicle on the priority road must pass before the road 
vehicle from the other road  
the road vehicles which pass at allowing signal, apply the 
"priority to the right" rule 
 

 

3  8/22.0 In this situation, when passing through the road junction, 
you must consider:  
the traffic lights  
the road sign prohibiting the turning right  
the road sign related to the right of way 

 



3  8/22.1 In this situation, when passing through the road junction, 
you must consider:  
the traffic lights  
the road sign for mandatory direction of movement in the road 
junction  
the road sign related to the right of way 
 

 

3  8/23. In case of discrepancy between the instructions of the road 
signs and road markings, the drivers are required to 
comply:  
with the prescriptions of the road signs  
with the road markings 
 

 

3  8/24. Will the driver commit a violation, if in this situation he 
turns left?  
yes  
no  
 
 

 

3  8/25. In this situation, the direction in which the red passenger 
car is allowed to pass is determined by:  
the road markings  
the road sign  
the light signal 

 

3  8/26.0. How must you act in this situation, if the driver of the red 
passenger car, who must give way, does not indicate by any 
action that he will stop?  
reduce the speed  
drive on with readiness to stop  
I am not obliged to take him into consideration, because I have 
right of way 

 
 
 
 
 
 
 
 
 

3  8/26.1 How must you act in this situation, if the driver of the blue 
passenger car, who must give way, does not indicate by any 
action that he will stop?  
reduce the speed  
drive on with readiness to stop  
I am not obliged to take him into consideration, because I am 
driving straight 
 

 

3  8/26.2 How must you act in this situation, if the driver of the red 
passenger car, who must give way, does not indicate by any 
action that he will stop?  
reduce the speed  
drive on with readiness to stop  
I am not obliged to take him into consideration, because I have 
right of way 

 
 
 
 
 
 
 
 
 

3  8/26.3 How must you act in this situation, if the driver of the blue 
passenger car, who must give way, does not indicate by any 
action that he will stop?  
reduce the speed  
drive on with readiness to stop  
I am not obliged to take him into consideration, because I have 
right of way 

 
 



3  8/26.4 How must you act in this situation, if the driver of the red 
passenger car, who must give way, does not indicate by any 
action that he will stop?  
reduce the speed  
drive on with readiness to stop  
accelerate, because I have right of way  
I am not obliged to take him into consideration because I have 
right of way 

 

3  8/27.0 In this situation:  
I will stop to wait for an allowing signal from the traffic-controller  
I will stop to give way to the red passenger car and then I will 
pass after it  
I will pass before the red passenger car, because I'm on the right 
and I am driving on a priority road 
 
 

 

3  8/27.1 In this situation:  
I will stop to wait for an allowing signal from the traffic-controller  
I will give way to the blue passenger car and I will pass after it  
I will pass before the blue passenger car 
 
 

 

3  8/28. In this situation:  
I will stop to wait for an allowing signal from the controller  
I will stop to give way to the red passenger car and pass after it  
I will pass before the red passenger car 
 
 

 

3  8/29. In this situation:  
I must pass before the blue passenger car  
I will stop to give way to the blue passenger car and pass after it 
I will stop to wait for an allowing signal from the traffic-controller  
 
 

 

3  8/30. In this situation are you allowed to turn right?  
yes  
no 

 

 

 

3  8/31. In this situation I must mandatory turn left.  
incorrect  
correct 

 
 

3  8/32. With this signal of the traffic-controller I will not commit a 
violation by passing through the road junction, provided 
that:  
before the occurrence of this signal, I was allowed to pass 
through  
at the time of the signal I'm so close that I cannot stop safely  
I give a light or sound signal for passing through the road 
junction 

 



3  8/33. With this signal of the traffic-controller I will not commit a 
violation by passing through the road junction, provided 
that:  
before the occurrence of this signal, I was allowed to pass 
through  
at the time of the signal I'm so close that I cannot stop safely  
I give a light or sound signal for passing through the road 
junction  

 

3  8/34. After submitting this traffic-lights signal:  

the entry into the road junction is prohibited  

I need to prepare for setting-off 

I can turn right, but with high caution  

the entry into the road junction is allowed 

 
 

3  8/35. With this non flashing signal of the traffic-lights:  
it is prohibited to pass through the road junction  
I may pass, but with high caution  
the passing is allowed for pedestrians only 
 
 

 

3  8/36. With this non flashing traffic-lights signal the entry into the 
road junction is:  
prohibited, except in cases where we cannot stop without 
creating a danger to traffic  
allowed without restrictions  
prohibited in all cases 
 

 

3  8/37. In this situation the driver of the blue passenger car must:  

allow the pedestrian pass 

give way to the red passenger car  

pass through before the pedestrians  

pass through before the red passenger car 

 

3  8/38. The illuminated white arrow in the opposite corner of the 
road junction means that:  
at this moment, the red passenger car is prohibited to drive 
straight and right 
I can turn left without waiting for the passing of the red 
passenger car  
I must give way to the red passenger car, because I am turning 
left 
 

 

3  8/39.0 After which of these signs, while passing through the road 
junction, the vehicle on the other road should give way to 
you? 

 

 

 

а.      b.   c.          d. 

 

3  8/39.1 After which of these signs, while passing through the road 
junction, the vehicle on the other road should give way to 
you? 

 

 

 

 

 



а. b. c. d. 
 
 
 

3  8/39.2 After which of these signs when passing through the road 
junction, we should give way to the road vehicle coming on 
the right road pass first? 

 
 
 
 

а. b. c. d. 

 

3  8/40.0 This sign requires the drivers to stop:  

always, no matter if there is a vehicle moving on the road being 
crossed  

only if there is a vehicle moving on the road being crossed  

if they deem it necessary 

 

 
 

3  8/40.1 In this situation:  

I must stop before passing through the road junction  

I may pass through without stopping, but I must give way to the 
road vehicles on the other road  

I may pass through without stopping, if there are no other road 
vehicles 

 

3  8/41. In this situation I can pass through without stopping, 
provided that I give way to the blue passenger car.  

incorrect 

correct 

 

 

3  8/42. In this situation, do you have to stop before passing 
through the road junction?  

yes, in the presence of this road sign I am obliged to stop  

no, because the red passenger car turns right 

 

 

3  8/43. In this situation:  
it is allowed to pass through without stopping, but I must give 
way to the road vehicle on the other road  
I am obliged to stop before passing through the road junction  
I may pass without stopping, because the road I am moving on 
is a priority road 

 

3  8/44. With this road sign:  
it is allowed to pass through without stopping, because the road I 
am moving on is a priority road  
I am obliged to stop before it pass through the road junction  
I may pass through without stopping, but I must give way to the 
road vehicle on the other road  
 

 

3  8/45. In this situation:  
I am allowed to pass through without stopping  
the road I am moving on is a priority road  
the road vehicles on the other road must give way to me  
I am obliged to stop before passing through the road junction 
 

 



3  8/46.0 In this situation, I will pass through before the blue 
passenger car, because I am moving straight.  

incorrect 

correct 

 

 

3  8/46.1 In this situation I have the right of way, because I am 
moving straight.  

incorrect  

correct 

 

 

3  8/47.  
In this situation, I must give way to the truck, because it is 
moving straight.  

incorrect 

correct 

 

3  8/48. In this situation, the following have right of way:  

the passenger car because it is moving along the priority road  

the motorcyclist, because he is located on the right side of the 
passenger car  

the motorcyclist, because he is driving straight 

 

3  8/49. In this situation the passenger car moving straight has right 
of way over the car which is turning right.  
incorrect 
correct 
 
 

 

3  8/50. In this situation, are you obliged to give way to the truck?  
yes, regardless of the direction in which it will continue to move  
it depends on the direction in which it will continue to move 
no 
 
 

 

3  8/51. In this situation, are you obliged to give way to the truck?  
yes, because it is located on the priority road  
yes, because it is located on right  
no, because I am driving straight 
 
 

 

3  8/52. 
In this situation, the red passenger car has right of way.  
correct  
incorrect 
 
 
 
 
 

 

3  8/53. In this situation I will pass through before the truck, 
because I am moving straight.  

incorrect  

correct 

 

 

3  8/54. In this situation I must pass through before the red 
passenger car because:  

 



I'm located on the priority road  
I am driving straight 
the red passenger car is turning left 
 
 
 

3  8/55. In this situation:  

I must pass through before the passenger car  

I must give way to the passenger car which is moving straight  

 

 

 

3  8/56. In this situation, the red passenger car that is turning right 
has right of way.  

incorrect  

correct 

 

 

3  8/57. In this situation I must give way to the red passenger car, 
because:  

it is located on the priority road  

it is moving straight 

I am turning left 

 

3  8/58. 
In this situation I must give way to the red passenger car.  

correct  

incorrect 

 

 

 

3  8/59. In this situation, I will pass before the blue passenger car 
because I am driving straight.  

incorrect  

correct 

 

 

3  8/60. In this situation I have right of way.  

incorrect  

correct  

 

 

 

3  8/61. In this situation I have right of way.  

incorrect  
correct 

 

 

 

3  8/62. In this situation, the following vehicles have right of way:  
the red passenger car, because it is approaching the road 
junction from the right side of the green passenger car  
the green passenger car, because it is moving straight  
the red passenger car, because it is located on the priority road 

 



  

3  8/63. In this situation, I have right of way.  
correct  
incorrect 

 

 

 

3  8/64. In this situation, which of the vehicles should you give way 
to?  

the red passenger car  

the blue passenger car 

 

 

 

3  8/65. In this situation I must:  
pass through before the red passenger car  
pass through before the blue passenger car  
give way to the red passenger car  
give way to the blue passenger car  

 

 

3  8/66.0 In this situation I must give way to:  
the red passenger car only  
the blue passenger car only  
both passenger cars  
 
 

 

3  8/66.1 In this situation I must:  
give way to the red passenger car  
pass through before the blue passenger car  
give way to the blue passenger car  
pass through before the red passenger car 
 

 

3  8/67.0 In this situation I must give way to the red passenger car 
only.  

incorrect  

correct 

 

 

 

3  8/67.1 In this situation I must:  
give way to the passenger car  
give way to the motorcyclist  
pass through before the motorcyclist  
pass through before the passenger car 
 

 

3  8/68. In this situation I must:  
give way to the red passenger car  
pass through before the blue passenger car  
pass through before the red passenger car  
give way to the blue passenger car  
 

 

3  8/69. In this situation I should give way to:  
the motorcyclist  
the truck 

 



the passenger car  
 

3  8/70.0 Are you obliged to give way to the blue passenger car, in 
this situation?  

yes  

no 

 

 

 

3  8/70.1 In this situation, I must:  
pass through before the red passenger car  
give way to the blue passenger car  
pass through before the blue passenger car  
give way to the red passenger car  
 

 

3  8/71. In this situation, I must:  
pass through before the red passenger car  
give way to the blue passenger car  
give way to the red passenger car  
pass through before the blue passenger car 
 

 

3  8/72. In this situation, the yellow passenger car must pass 
through before the blue passenger car and red passenger 
car because:  
it is located on a priority road  
it is located on the right side of the blue passenger car  
it is turning right  
it is not leaving the priority road  

 
 

3  8/73.0 In this situation, I must give way to:  
the blue passenger car only 
the red passenger car only 
both passenger cars 
 
 

 

3  8/73.1 In this situation, I must:  
give way to the blue passenger car  
give way to the red passenger car  
pass through before the blue passenger car  
pass through before the red passenger car 
 

 

3  8/74.0 In this situation, I must:  
give way to the blue passenger car  
give way to the yellow passenger car  
pass through before the red passenger car 
 
 

 

3  8/74.1 In this situation, I must:  
give way to the red passenger car because it is located on the 
priority road  
give way to the yellow passenger car because it is located on 
the priority road 
pass through before the blue passenger car, because it is 
turning left 
 
 

 



3  8/75. In this situation, I must give way to:  
the blue passenger car  
the red passenger car  
the yellow passenger car 
 
 

 
 
 
 
 
 
 

3  8/76.0 In this situation, I must pass through after:  

the red passenger car  

the blue passenger car 
 
 
 

 
 
 
 

3  8/76.1 In this situation, I must:  
pass through before the red passenger car  
give way to the blue passenger car  
pass through before the blue passenger car  
give way to the red passenger car  
 

 
 
 
 

3  8/77. In this situation, I must pass through before:  

the blue passenger car  

the red passenger car  

the yellow passenger car 

 

 
 
 
 
 
 
 

3  8/78. In this situation, I must:  
pass through before the blue passenger car  
give way to the red passenger car  
pass through before the yellow passenger car 
 
 

 
 
 
 
 
 
 

3  8/79. In this situation:  
I should give way to the blue passenger car  
I will pass through before the blue passenger car 
 
 
 

 

3  8/80. In this situation, I will give way the red passenger car, 
because:  
it is located on my right side 
it is moving straight  
I am turning left 
 
 

 

3  8/81. In this situation:  
I will give way to the red passenger car  
I will pass through before the red passenger car 
 
 
 

 



3  8/82. In this situation, the red passenger car has right of way.  
incorrect  
correct 
 
 
 
 

 

3  8/83.0 
In this situation, the driver of:  
the passenger car has right of way 
the motorcycle has right of way 
 
 
 
 
 

 

3  8/83.1 In this situation:  
the passenger car  has right of way because it is on the right of 
the motorcyclist  
the motorcyclist has right of way because it is moving straight  
the motorcyclist has right of way because it is a two-wheeled 
motor vehicle 
 

 

3  8/84.0 In this situation, are you obliged to give way to the blue 
passenger car?  
yes 
no 
 
 
 
 

 

3  8/84.1 In this situation, I have right of way because I am driving 
straight.  

incorrect  

correct 

 

 

3  8/85. In this situation, the following vehicles have priority of way:  

the blue passenger car because it is located on the right  

the red passenger car, because it is moving straight  

the blue passenger car, because it is turning right  

 

 

3  8/86. In this situation, the blue car:  
has no right of way 
has right of way 
 
 
 

 

3  8/87. In this situation, I will give way to the red passenger car 
because:  
it is on my right side 
the road on which I am driving has not extension forward  
it is moving along the road that extends straight  
it turns left 
 

 



3  8/88. In this situation, the red passenger car has right of way.  

incorrect  

correct 

 

 

 

3  8/89. In this situation, I will pass simultaneously with the red 
passenger car and I am not obliged to give way to the blue 
passenger car.  
incorrect  
correct 
 
 
 
 
 
 
 

 

3  8/90. In this situation, I must:  
give way to the passenger car  
give way to the truck 
pass through before the passenger car  
pass through before the  truck 
 

 

3  8/91. In this situation, I have right of way because I am driving 
straight.  

incorrect  

correct 

 

 

3  8/92. In this situation, I must:  
give way to the motorcyclist  
pass through before the red passenger car  
pass through before the motorcyclist 
give way to the red passenger car  
 

 

3  8/93.0 In this situation, I must pass through after:  
the blue passenger car  

the red passenger car 

 

3  8/93.1 In this situation, I must:  
give way to the blue passenger car  
pass through before the red passenger car  
give way to the red passenger car  
pass through before the blue passenger car 
 

 

3  8/94. 
In this situation, I must give way to the red passenger car.  

incorrect  

correct 

 

 



3  8/95.1 In this situation, I must:  

pass through before the blue passenger car  

pass through before the red passenger car  

give way to the blue passenger car  

give way to the red passenger car  

 

3  8/96.1 In this situation, I must:  

give way to the red passenger car  

give way to the blue passenger car  

pass through before the blue passenger car  

pass through before the red passenger car 

 

3  8/97. 
In this situation, the following passenger car must pass 
through first:  

the red passenger car  

the green passenger car  

the blue passenger car 

 

 

3  8/98.0 In this situation, the driver of the green passenger car 
should give way to:  

both cars  

the blue passenger car only 

the red passenger car only 

 

only 

3  8/98.1 In this situation the driver of the green passenger car must:  
give way to the red passenger car  
give way to the blue passenger car  
pass through before the blue passenger car  
pass through before the red passenger car 
 

 

3  8/99.0 In this situation, I must give way to:  
the red passenger car  

the blue passenger car  

 

 

 

3  8/99.1 In this situation, I must:  
give way to the red passenger car  
pass through before the blue passenger car  
pass through before the red passenger car  
give way to the blue passenger car  
 

 

3  8/100.0 In this situation, I must:  

pass through before both passenger cars 

give way to the red passenger car only 

give way to the blue passenger car only 

 

only 

3  8/100.1 In this situation, I must:  
pass through before the red passenger car  
pass through before the blue passenger car  
give way to the red passenger car  

 



give way to the blue passenger car  
 

3  8/101. In this situation, the red passenger car has right of way 
because it is moving straight.  

incorrect  

correct 

 

 

3  8/102.0 In this situation the driver of the green passenger car 
should give way to:  
the blue passenger car only 
the red passenger car only 
both passenger cars  
 
 

 

3  8/102.1 In this situation, the driver of the green passenger car must:  
give way to the blue passenger car  
pass through before the red passenger car  
give way to the red passenger car  
pass through before the blue passenger car 
 

 

3  8/103.0 In this situation, I must give way to:  
the tram only 
the passenger car only 
both vehicles  
 
 

 

3  8/103.1 In this situation, I must:  
give way to the tram  
pass through before the passenger car  
give way to the passenger car  
pass through before the tram 
 

 

3  8/104.0 In this situation, I must give way to:  

the tram only 

the passenger car only 

both vehicles  

 

 

3  8/104.1 In this situation, I must:  
give way to the tram  
pass through before the passenger car  
give way to the passenger car  
pass through before the tram 
 

 

3  8/105.0 In this situation, I must give way to:  
both vehicles  
the tram only 
the passenger car only 
 
 

 

3  8/105.1 In this situation, I must:  
give way to the passenger car  
give way to the tram  

 



pass through before the passenger car  
pass through before the tram 
 

3  8/106.0 In this situation, I must give way to:  
the tram only 
the `passenger car only 
both vehicles  
 
 

 

3  8/106.1 In this situation, I must:  
give way to the tram  
pass through before the passenger car  
pass through before the tram  
give way to the passenger car 
 

 

3  8/107. In this situation, the following passenger car has right of 
way:  
the red passenger car  
the yellow passenger car 

 

 

 

3  8/108. In this situation, the following passenger car has right of 
way:  
the red passenger car  
the yellow passenger car 
 
 
 

 

2  8/109. Is the driver obliged to stop the engine in case of an 
emergency stopping in a tunnel?  
yes, when the beginning of the tunnel is marked by a road sign  
yes, when the stopping is for a short time 
yes, regardless of the reason for stopping and the duration of 
stopping  
no 

 

2  8/110. Is the driver obliged to stop the engine in case of an 
emergency stopping in a tunnel, when the beginning of 
tunnel is marked by a road sign?  
yes, when this stopping is not for a short time 
yes, regardless of the duration of stopping  
no 

 

2  8/111. In emergency stopping in a tunnel, the driver is obliged to 
stop the engine when:  
the beginning of the tunnel is marked by a road sign  
the stopping is not for a short time 
the tunnel is illuminated 
the traffic in the tunnel is one-way 

 

2  8/112. The performing of which of these maneuvers is prohibited 
in a tunnel?  
moving backwards 
making a U-turn 
going around  
overtaking 

 

2  8/113. Making a U-turn in the tunnel is:  
prohibited  

 



allowed only on a road with three or more lanes  
allowed if there is no oncoming traffic  
allowed if the traffic in the tunnel is two-way  

2  8/114. Upon entering the tunnel, the beginning of which is marked 
by a road sign, is the driver obliged to switch on the vehicle 
lights?  
yes  
no 

 

2  8/115. This sign:  
indicates an emergency exit in an tunnel  
designates an entrance of a pedestrian subway  
indicates the location of the pedestrian exit from a highway 

 

2  8/116. This sign:  
indicates the direction of movement to an emergency exit in a 
tunnel  
indicates the mandatory direction of movement on a pedestrian 
walkway  
indicates the direction to the pedestrian underpass  
indicates the location of the pedestrian exit from the highway 

 

2  8/117. In a tunnel this sign indicates:  
widening of the roadway with an emergency station  
lane for emergency stopping  
parking space 

 

2  8/118. In a tunnel this sign with additional plate indicates:  
the place for emergency stopping  
a parking area equipped with a telephone and fire extinguisher 
 
 
 

 

2  8/119. When driving in a tunnel of a length exceeding 500 m, the 
distance between the passenger cars must be equal to the 
distance traveled for two seconds with the permitted speed 
of movement.  
correct  
incorrect 

 

2  8/120. While stopping in a tunnel with a length exceeding 500 m, 
the distance between the vehicles must be not less than:  
5 m  
4 m  
3 m  
2 m 

 

2  8/121. For which drivers are the stop signals given by the railway 
employee standing on the rail level crossing mandatory?  
for the drivers on both sides of the railway crossing  
only for drivers who are approaching the side of the crossing, on 
which the railway employee is located  
the signals of the railway employee are not mandatory for the 
drivers of the motor vehicles 

 

2  8/122. In case of emergency stopping of the vehicle on the railway 
crossing, the driver must:  
take the passengers out of the vehicle at a safe distance  
take measures to remove the vehicle outside the railway  
take measures to timely warn the drivers on both sides of the 
railway  
remain in the vehicle and notify the control authorities 
 

 



2  8/123. When the stopping place before the railway crossing is 
determined in relation to the rails, the distance from the first 
rail must be:  
not less than 2 m  
not more than 1 m  
not more than 5 m  
at the discretion of the driver 

 

2  8/124. When the stopping place before the railway crossing is 
determined in relation to the rails, the distance from the first 
rail must be:  
not less than 2 meters  
not more than 2 meters  
the smallest possible 
at the discretion of the driver 

 

2  8/125. Is it mandatory to stop before a railway crossing without 
barriers?  
yes, in all cases  
yes, but only when a train is approaching the crossing  
no 

 

2  8/127. How will you signal during the day in order to stop the train, 
if the passenger car you are driving is staying on the 
railway tracks due to failure?  
by a circular motion of the arm which holds an easily noticeable 
object  
by an arm directed sidewards  
by a raised up hand, which may hold an attention attracting 
object  
by a stop  truncheon 
 

 

2  8/128. How will you signal during the night in order to stop the 
train, if the passenger car you are driving is staying on the 
railway tracks, due to failure?  
by circular motion of the arm which holds a burning torch or a 
lantern  
by a fire next to the railway track  
by a raised up hand, which holds an attention attracting object  
by a light-reflective stop  truncheon 

 

2  8/129. The driver is prohibited to enter the railway crossing, if:  
there is insufficient space to continue moving on the other side 
of the railway crossing  
he will have to passing past another road vehicle on the railway 
crossing 
there is no sound and light signaling facilities at the railway 
crossing  

 

2  8/130. The driver is prohibited to enter the railway crossing: 
before he gets sure that there is no train approaching the railway 
crossing  
if the audible alarm is switched on 
If the traffic lights facility gives a signal of slow flashing light with 
moon-white colour  
when on the other side of the crossing there is an insufficient 
space to continue moving 

 

2  8/131. The driver is prohibited to enter the railway crossing:  
if the barriers are lowered and begin to lift 
if the audible alarm is switched on 
in case of flashing red light of the traffic lights   
If the traffic lights facility gives a signal of slow flashing light with 
moon-white colour 

 



2  8/132.0 The driver is prohibited to enter the railway crossing if:  
the barriers are lowering  
the barriers are lowered  
he will have to move past another road vehicle on the railway 
level crossing 
there are not any facilities for sound and light signal at the 
railway crossing 

 

2  8/132.1 The driver is prohibited to enter the railway crossing:  
before he gets sure that there is not a train approaching the 
railway crossing  
when on the other side of the crossing there is an insufficient 
space to continue moving  
if he will have to move past another road vehicle on the railway 
crossing 
if there are no sound and light signaling facilities at the railway 
crossing 

 

2  8/133. Do you have to stop the road vehicle before a railway 
crossing, if the barriers are lifted, but the traffic lights is 
flashing red light?  
yes, in all cases  
yes, but only when a train is approaching the railway crossing  
not necessarily 

 

2  8/134. Do you have to stop the road vehicle before a railway 
crossing, if only the audible alarm is switched on?  
yes  
no 

 

2  8/135. If on a railway crossing without barriers, after the train has 
passed, the traffic lights continue flashing in red, the driver:  
must not enter the railway crossing  
may pass through the railway level crossing carefully  
must get-off the vehicle and see what is happening 
may pass through with the emergency lights switched on 

 

2  8/136. If, while passing through a railway crossing, the audible 
alarm and the red traffic light is switched on, the driver 
must:  
continue his movement to free the railway crossing  
stop immediately and switch on the emergency lights  
make a U-turn to faster leave the railway level crossing 

 

 


